PATHOLOGY EXAM 4 2006
1. Jaundice occurs when there is an elevation in
A. Serum bilirubin

B. Serum globulin

C. Serum albumin

D. Serum sodium

E. Serum iron

2. Feco-oral transmission of viral hepatitis is caused by:

A. Hepatitis A virus

B. Hepatitis B virus

C. Hepatitis C virus

D. Hepatitis D virus

E. Herpes simplex virus

3. Exposure to infected blood or body fluids causes viral hepatitis with:

A. Hepatitis A virus

B. Hepatitis B virus

C. Hepatitis E virus

D. Cytomegalovirus
E. Human papillomavirus

4. The most common cause of cirrhosis in the US is:

A. Alcohol abuse

B. Cigarette smoking

C. Systemic hypertension

D. Congenital liver disease

E. Gallstones
5. Cirrhosis of the liver results in:

A. Anemia

B. Diarrhea

C. Anorexia

D. Ascites

E. Systemic hypertension

6. Predisposing factors in the development of hepatocellular carcinoma include:

A. Smoking

B. Severe atherosclerosis 

C. Portal hypertension

D. Hepatitis B infection

E. Gallstones

7. The histologic hallmark of cirrhosis is:

A. Fibrosis and nodularity

B. Mallory bodies

C. Eosinophilic globules

D. Iron deposition

E. Cholestasis

8. Gallstones most often produce:

A. Diarrhea

B. Vomiting

C. Constipation

D. Skin rash

E. Obstructive jaundice

9. The major risk factor for acute pancreatitis is:

A. Viral hepatitis

B. Elevated serum bilirubin

C. Carcinogens in food

D. Alcohol abuse

E. Elevated serum cholesterol

10. Cancer of the pancreas:

A. Is the most common tumor of the GI tract

B. Has a very low mortality rate

C. Is usually a sarcoma

D. Usually presents with abdominal distension

E. Often presents with obstructive jaundice

11. The most common type of carcinoma to affect to affect the vulva is:

A. Adenocarcinoma of small glands in the area

B. Squamous cell carcinoma

C. Mucous cystadenocarcinoma

D. Serous cystadenocarcinoma

E. Metastatic endometrial carcinoma

12. Which of the following HPV strains is regarded as high risk for cervical carcinoma?

A. HPV 2

B. HPV 4

C. HPV 6

D. HPV 11

E. HPV 18

13. A 36 year old woman experiences severe abdominal pain during her menstrual cycle. Further tests reveal intra-abdominal bleeding with scarring and adhesions of intra-abdominal organs. These findings are most consistent with:

A. Cervical intraepithelial neoplasia II

B. Vaginal candidiasis

C. Endometriosis

D. Cervical condyloma acuminatum

E. Vulvar leukoplakia

14. The most common cancer of the female reproductive tract in western countries is:

A. Vaginal squamous cell carcinoma 

B. Vaginal adenocarcinoma

C. Cervical carcinoma

D. Endometrial carcinoma

E. Choriocarcinoma

15. Ovarian tumors derived from germ cells are called:

A. Mucous cystadenocarcinomas

B. Serous cystadenocarcinomas

C. Choriocarcinomas

D. Squamous cell carcinomas

E. Teratomas

16. The most common site for ectopic pregnancy is:

A. The surface of the ovary

B. The uterus

C. The cervix

D. The fallopian tubes

E. The abdominal cavity

17. Which of the following statements best describes a complete hydatidiform mole?

A. The cells are triploid (69, XXY)

B. The chorionic villi cells are normal and a fetus forms

C. The chorionic villi cells are abnormal and no fetal parts are detectable

D. The cells and haploid (23, X)

E. The most common complication is ectopic pregnancy

18. The underlying cause of preeclampsia/eclampsia is:

A. The formation of a partial hydatidiform mole

B. Disseminated intravascular coagulation

C. The muscle walls of the spiral arteries are not replaced by fibrinous material

D. Hypertension

E. Glomerulonephritis

19. Scirrhous carcinoma is:

A. Mucous cystadenocarcinoma of the ovary

B. Invasive ductal carcinoma of the breast

C. Invasive lobular carcinoma of the breast
D. Choriocarcinoma of the ovary

E. Malignant teratoma

20. Which of the following factors favors a better prognosis for breast carcinoma?

A. A high-grade carcinoma

B. Presence of invasive ductal carcinoma rather than lobular carcinoma

C. Metastasis to 16 lymph nodes

D. Aneuploidy with large numbers of abnormal mitotic figures

E. Tumor <1 cm in size with no evidence of lymph node metastasis

21. A 17 year old male experiences problems caused by narrowing of bony formamina and pinching of cranial nerves. Marrow spaces are greatly decreased and he has myelophthesic anemia and has begun to suffer from repeated infections and osteomyelitis. His bones are abnormally radiopaque. This patient is most likely suffering from:

A. Osteoporosis

B. Osteopetrosis

C. Osteomalacia

D. Osteogenesis imperfect

E. Osteosarcoma

22. A 51 year old male has enlargement and deformity of his ribcage, sternum, head and pelvis. He has recently had a fracture of his femur, and also has impingement of cranial and spinal nerves due to bone enlargement. His serum alkaline phosphatase levels are very high. A biopsy reveals bone exhibiting may reversal lines. The patient is most likely suffering from:

A. Osteogenesis imperfecta

B. Achondroplasia

C. Osteoporosis

D. Paget disease

E. Pyogenic osteomyelitis

23. An 18 year old male has pain in his femur adjacent to his knee. A radiograph reveals an irregular radioopacity of the lower femur causing expansion with radiopaque flecks present. A biopsy reveals malignant cells producing Osteoid. What is the most appropriate diagnosis?

A. Pyogenic osteomyelitis

B. Osteosarcoma

C. Chrondrosarcoma

D. Multiple myeloma

E. Ewing sarcoma

24. A 61 year old woman has acute arthritis affecting the small joints in her toes. A biopsy reveals tophi in the tissues. What is the most likely cause of the arthritis?

A. Osteoarthritis 

B. Fibrous dysplasia

C. Hyperparathyroidism

D. Tuberculous osteomyelitis

E. Gout

25. A 45 year old woman with a thyomoma, has muscle weakness that is particularly noticeable later in the day, when she develops double vision and slurred speech. This patient most likely suffers from:

A. Duchenne muscular dystrophy

B. Becker muscular dystrophy

C. Myasthenia gravis

D. Hyperparathyroidism 

E. Fibrous dysplasia

26. What is the most prominent clinical manifestation of a patient with membranous glomerulonephritis (membranous nephropathy)?

A. Generalized edema

B. Hematuria

C. Oliguria

D. Azotemia

E. Hypertension

27. It has been reported that the most common glomerular disease worldwide is:

A. Lipoid neprhosis

B. Membranous nephropathy

C. Acute proliferative glomerulonephritis 

D. IgA nephropathy

E. Nodular glomerulosclerosis

28. Which of the following is considered to be the most common cause of chronic renal failure?

A. Chronic pyelonephritis

B. Ischemic tubular necrosis

C. Benign hypertension

D. Chronic glomerulonephritis 

E. Malignant hypertension

29. What is the most common causative organism for acute pyelonephritis?

A. Group A streptococci

B. Staphylococcus aureus

C. E. coli

D. Streptococcus pneumoniae

E. Meningococcus

30. In toxic acute tubular necrosis of the kidney, which portion of the kidney is most prominently affected?
A. Proximal convoluted tubule 

B. Loop of Henle

C. Distal convoluted tubule

D. Upper collecting tubule

E. Lower collecting tubule

31. What is the characteristic histologic feature in malignant nephrosclerosis that distinguishes malignant from benign nephrosclerosis?

A. Hyaline arteriosclerosis

B. Interstitial fibrosis

C. Atherosclerosis of the renal artery

D. Tubular cell atrophy

E. Hyperplastic arteriosclerosis

32. The most likely complication of renal stones is:

A. Lipoid nephrosis 

B. Acute proliferative glomerulonephritis 

C. IgA nephropathy

D. Acute tubular necrosis

E. Acute pyelonephritis 

33. Which route of spread does a renal cell carcinoma most commonly take?

A. Invasion into lymphatic channels

B. Invasion into the pleural cavity

C. Invasion into the renal vein

D. Invasion into the peritoneal cavity

E. Invasion into the renal artery

34. A 35 year old man has a history of swollen parotid and testicles. He is unable to have children and a biopsy of his testicle shows patch atrophy of seminiferous tubules. His sperm count is very low. Which of the following is the most likely cause?

A. Thrombosis of the testicular artery

B. Mumps virus infection

C. Mycobacterium avium intracellulare infection

D. Epstein-Barr infection

E. Human papillomavirus infection

35. A 72 year old man has had increasing difficulty in urination in the past 10 years. His prostate is enlarged to twice its normal size. His prostate antigen level is very low. Which of the following findings is most likely to be seen microscopically in a biopsy specimen of his prostate gland?

A. Poorly differentiated glands lined by a single layer of epithelium and packed back to back

B. Hyperplastic nodules of stroma and glands lined by two layers of epithelium

C. Foci of chronic inflammation in the stroma and in normal appearing glands

D. Areas of liquefactive necrosis filled with neutrophils

E. Multiple areas of caseating granulomatous inflammation

36. “Target lesion” of the skin is a hallmark of:

A. Allergic contact dermatitis

B. Erythema multiforme

C. Atopic dermatitis

D. Primary irritant dermatitis

E. Uritcaria

37. What histomorphologic features characterize psoriasis?

A. Basal epithelial cells destroyed by cytotoxic T lymphocytes

B. Acantholysis of spinous cells, resulting in Tzanck cells

C. Spongiosis of lower keratinocytes with ballooning degeneration

D. Hyalinization of keratinocytes with margination of nuclear chromatin

E. Epidermal hyperplasia with hyperparakeratosis

38. Which skin disease is characterized by the formation of intraepithelial blisters?

A. Dermatitis herpetiformis

B. Actinic keratosis

C. Pemphigus vulgaris

D. Lichen planus

E. Bullous pemphagoid

39. Which part of the skin is most prone to the development of squamous cell carcinomas?

A. Facial skin

B. Abdominal skin

C. Genital mucocutaneous junction

D. Sole of the foot

E. Skin of the lower back

40. Over the past 7 years, a 65 year old man has noticed a slowly enlarging, circular, brown lesion on his trunk. Biopsy of this lesion shows sheets of pigmented basaloid cells that surround keratin-filled cysts. This lesion is sharply demarcated. What is the most likely diagnosis?

A. Basal cell carcinoma

B. Keratoacanthoma

C. Seborrheic keratosis 

D. Verruca vulgaris

E. Melanoma

41. Which microorganism is the most common cause for the endemic form of meningitis?

A. Neisseria meningitides 

B. E. coli

C. Group B streptococci

D. Streptococcus pneumoniae

E. Listeria monocytogenes

42. What is the most common primary tumor in the central nervous system?

A. Astrocytoma

B. Medulloblastoma

C. Oligodendroglioma

D. Ganglion cell tumor

E. Central neurocytoma

43. Huntington disease is a hereditary disease, transmitted as an autosomal dominant trait. What is the specific gene mutation in Huntington disease?

A. C-ras mutation

B. P53 mutation

C. Bcl-2 mutation

D. C-able mutation

E. CAG trinucleotide repeat mutation

44. One of the characteristic features of Lou Gehrig disease is:

A. Dementia

B. Muscle atrophy

C. Visual disturbance

D. Numbness of extremities

E. Worsening choreiform movements in successive generations

45. A 68 year old woman with a 7 year history of progressive dementia dies of pneumonia. At autopsy, there is prominent cerebral atrophy. Histology shows numerous neurite plaques. What kind of disease does this woman have?

A. Pneumococcal encephalitis

B. Meningococcal meningitis

C. Multiple sclerosis

D. Alzheimer disease

E. Parkinson disease

